1)

2)

5)

9A-1

a) m=5/3,b=5 Y=5B8X+5
b) m=5/3,b=1, Y=5B8X+1
c) m=53,b=-1, Y=53X-1
d m=53,b=4 Y=5B83X-4

w) m=-1/2, b=4, Y=-1/2X+4
X) m=-12, b=2, Y=-12X+2
y) m=-1/2, b=-1, Y=-1/2X-1
2) m=-1/2, b=-3, Y=-1/2X-3

A) Y=1/3X-2
B) Y =-3X
C) Y=4-3X; Y=-3X+4

A) Y=1/4X+5
B) Y=-1/2X+2
C) Y=4+4/8X;Y=1/2X+4

A) Y=2/8X+4
B) Y =6/4X;Y=32X
C) 2Y=8-3X;2Y=-3X+8,Y=-3/2 X +4

A) Y=120X-1;Y=4/3X-1
B) 3Y =-4X +0; Y = -4/3 X
C) 2Y=5X-8Y=-52X +4

Lines B and C both have a slope of -3,
which is the same slope as Y = -3X + 2.
Answers B and C are parallel to the given line.

Line C has a reduced slope of 1/2,
which is the same slope as Y = 1/2 X - 5.
Answer C is parallel to the given line.

Givenline:2Y -3X =4;2Y =3X+4;Y=3/2X + 2
Line B has a reduced slope of 3/2,

which is the same slope as Y =3/2 X + 2.

Answer B is parallel to the given line.

Given line: 3Y+ 4X =-6;3Y =-4X-6; Y =-4/3 X -2
Line B has a slope of -4/3,

which is the same slope as Y =-4/3 X - 2.

Answer B is parallel to the given line.

9A-2

8)

10)

11)

Y+2X=4
Y=-2X+4
Y=2X-4

Y-4X=0
Y=4X+0
Y =4X

2Y-X=-2
2Y=X-2
Y=-12X+1

3Y-2X=-6
3Y=2X-6
Y=2/83X-2

-4Y -3X =-8
-4Y =3X-8
Y=-34%X+2

12)

13)

14)

15)

16)

Y=-53X-2
5B3X+Y=-2

5X +3Y =-6 Multiplying each term by 3.

Y=4X-3
“4X+Y=-3 or

4X-Y=3 Multiplying each term by -1.

Y=1/4X+3
1/4X+Y =3
X+4Y =12 or X-4Y =-12

Y=-36X-1
35X +Y=-1
3X+5Y=-5

Y =3X
83X +Y=0o0r 3X-Y=0

Adding 5/3 X to both sides.
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9B -1

1) Y=6/8X-3,Y=3/4X-3
Y

v

3) slope-intercept: Y=0X-2;Y =-2
standard form: Y =-
¥

5)  slope-intercept: Y =
standard form: 2X+Y =0

BLBX+0;Y=

-2X

2) Y=3B8X+4Y=X+4
Yi

%

4)  slope-intercept: Y =

86X+2,Y=

-4/3 X +2

standard form: 4/3X +Y =2,;4X +3Y =6

AY
AN
LTIN
1
N
N
- N
AN
N\
I

N

6) slope-intercept: none because slope is
undefined and there is no Y-intercept.

standard form: X =0

A

9B -2

If your student text has Lesson Practice 8A.1 - 8A.3, look in Appendix A at the back of your student

book for the solutions. If your student text has only 34 lessons, your lesson practice 8B is the same

as 9B-2 in these solutions. Add one to each lesson number from here on to find the correct solutions.

7) onthe graph 15) on the graph

w
x®

= - = 1 = 9
8) slope = 5 6) slope = = 4
9) y-intercept=3 17) y-intercept = -
10) Y=-3/2X+3 18) Y=4X-1
11) C (Y=-3/2X) 19) C (Y=32X+1)
on the graph 20) on the graph
. 11 Ll !
‘5 o At 4 }i‘r:’«ﬁx
—-3/2‘)( 2 21) Y=4X+3
\/.. 2
\-._.
Y + /f =-2, 3X+2Y=-4 22) 4X-Y=-3
M v/
-3 44y * #50#15
¢12 ) 2 Y
X x Ar -2 7 - / .
AN 147
3 7
\ l/ /
< q X < /
N\ 8
N
/1]
12 &
\\
2
#7
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9C

1)
2)
3)
4)
5)
6)

on the graph
3 .
slope = i 1
y-intercept = 4
Y=X+4,

A (Y=-X-1),

X-Y=-4
C (Y=-X)
on the graph

#
Y 9 #6

\ f

3

8)
9)
10)
11)

12)

13)

14)

15)
16)
17)
18)
19)
20)

2
Y =-3X -1, soslope is -3
Y-13X=2,
2Y =-3X+1,

X-38Y=-6
Y=-32X+1/2

(B-11)2x2+16-7=3Y-4Y+9
(-82x2+16-7=-Y+9
64x2+16-7-9=-Y

128 +16-16=-Y, 8-16=-Y, 8=Y
(3-52+ l6-4[-X=3X

(22 + [2]-X=3X

4+2=4X, 6=4X, 1172=X

3(A - 4) - 5(2A - 6) = 21

3A-12-10A+ 30 =21

7TA+18 =21, -7A=3, A=-3/7

2 4 304 A ;11
U{’j7+(}5)—/57’\—05) I

20+12A =33, A=11/12

-62 - (-6)2 =-36 - 36 = -72
5+5-(-7)=104+7=17
[ (N]=-[71=-7

(-8)2 =64
25% = .25,
45% = .45,

25 x 76.98 = $19.25
.45 x 600 = 270 people

on the graph <
6
| = =
slope 5
y-intercept = -4
Y=X-4, X-Y=4
C (Y=14X+2)

on the graph
Y

3

#3

|_—w#6

7
8)

10)

11)

12)

13)

15)

16)
17)

18)
19)

20)

Y=1/4X-1

Y =-2X + 3, slope =-2
2X-Y=-5

4Y=-2X+8, Y=-12X+2

F1-1-1-12 =(-1)2 + B(-1) = 1
16=1-B+1, 15=-B, -15=B

(3+52+ 8-111+2=4@Z-2)
82+ |-3|+2=4z-8

64+3+2=4Z2-8, 75=8Z, 25=Z7

5(B - 6) + 4(2B + 7) = 102
58 - 30 + 8B + 28 = 102
13B-2=102, 13B=104, B=8

55Q - 30Q =125
25Q=125, Q=5

{-[-(8)1r=-{-[8]}=8
-92 = -81
(4)=4

32+(-32=9+9=18

76% = .76, .76 X200 = $152
WF 2
& T T e
2
Wee 2 .1 1ty o,
8 4 A 1

on the graph

4
slope = s = -2

y-intercept = -3

Y=-2X-3, 2X+Y =-3
5) B (Y=3X), C
6) on the graph (line will have a slope of 3)
#3 Y #6
] y
A\ /
4
< B X
/
-2
/
4
14
7) Y=3X-2
8) -1/5
9) 3X+Y=-6
10) Y+2X=-1, Y=-2X-1
11) 24Y -108Y + 96 =48 - 12Y
-84Y + 96 - 48 = -12Y
48=72Y, 2B=Y
12) {-[-(-9)]+72}+5:2=Q+4
{-9+49}= 2=Q+4
: 4

13)

14)

15)
16)
17)

18)
19)
20)

BA+3-9)-4(2A+5)=2A+4
8A +24 -72-8A-20 = 2A + 4
-68 -4 = 24,

-72=2A, -36=A

(6+6)2+ [100-1]-142=5x9+B
122 +99-196 = 45 + B
243-196-45=B, 2=B

-[-(6-943-5)] =-[-(:5)]=-5

53 = -125
B etlm s b
124 10
WF = i 3 X J’O =3
1 1o 1
8.75 + .25 = 35 packs
6% =.06, .06x115=$6.90
N2 -N2

o 8 £ .8

on the graph

8
slope = > =4

y-intercept = 0

Y =4X
B

on the graph

Y=-1/4X+2

Y + 1/4X

=2, X+4Y=8
Y #3

A

#64

2
Jy

on the graph

slope = -

-

y-intercept = -2
Y=-X-2

A (Y=X

-2)

on the graph

Y=X+2

X-Y=-2

Y #14

#11
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